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QUESTION 1

You are configuring Enterprise Onboarding Checklists and need to c to new hires during onboarding by 

line managers and HR specialists. 

Which Checklist enhancement supports this requirement? 

A. Checklist Category 

B. Checklist Validity 

C. Checklist Completion 

D. Task Library 

Correct Answer: C 

 

QUESTION 2

If multiple people update a performance rating for a competency on a worker\\'s profile, what is used to provide a unique
identifier for each instance of the competency so what you can determine who provided what rating? 

A. educational establishment 

B. rating model 

C. content subscriber 

D. instance qualifier 

E. content library 

Correct Answer: D 

 

QUESTION 3

A candidate applied for an employment opportunity with a legal employer in the past. The candidate reapplies after
some time for an opportunity with a different legal employer in the same enterprise. 

While applying the second time, the candidate provides a new national identification value. Which option does the
application use to check if a matching record already exists in the system? 

A. The application cannot identify the matching record and there will be two person records available for further
processing. 

B. The application identifies a match if the first name, the first character of the last name, and date of birth are the same;
or if the last name, the first character of the first name, and date of birth are the same. 

C. Because the national identifier has changed, the system cannot identify the matching record. 
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D. The application searches for the availability of date of birth and middle name to identify the matching record. 

Correct Answer: B 

 

QUESTION 4

Identify the set enabled objects that are used for partitioning reference data. 

A. department, location, jobs, grades 

B. jobs, grades, salary plan, rates 

C. legal entity, department, division, location 

D. enterprise, legal entity, business unit, position 

Correct Answer: A 

 

QUESTION 5

There are two legal employers identified for your current application implementation. The legal employers 

have inherited the number-generation method set at enterprise level. However, there is a need to override 

the number-generation method at the legal employer level. 

Which two options are correct? (Choose two.) 

A. There are no conditions. The worker generation method can be changed to automatic at any time. 

B. The employment model selected should be one-tier. 

C. No Employee or Contingent Worker work relationships should exist for that legal employer. 

D. The employment model selected should be three-tier. 

E. Manual worker-number generation for a legal employer can be selected at any time. 

Correct Answer: CE 
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